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VALOR DE UNA FUNCIÓN 
PRÁCTICA 

 

I PARTE. Evalúa las siguientes funciones: 

1) 𝑓(𝑥) = 2𝑥ଶ − 3;  Encuentre:  

𝑎) 𝑓 ቀ−
ଵ

ଶ
ቁ b) 𝑓(3) c) 𝑓(0) 

2) 𝑓(𝑥) = 𝑥ଶ − 5𝑥 + 6;  Encuentre:  

𝑎) 𝑓(𝑎) b) 𝑓(𝑎 + 𝑏)  

3) 𝑓(𝑥) = 3𝑥ଶ + 4𝑥 − 2; Encuentre:  

𝑎) 𝑓(𝑥 + ℎ) b) 
௙(௫ା௛)ି௙(௫)

௛
 

4) 𝑓(𝑥) =
ଶ௫ିଵ

ଶ௫ାଵ
;   Encuentre:  

𝑎) 𝑓 ቀ
ଵ

ଷ
ቁ b) 𝑓 ቀ−

ଵ

ଶ
ቁ c) 𝑓(𝑥 + ℎ) − 𝑓(𝑥) 

5) 𝑓(𝑥) = √𝑥ଶ − 16;  Encuentre:  

𝑎) 𝑓(5) b) 𝑓(4) c) 𝑓(6)  d) 𝑓(3) 

6) 𝑓(𝑥) = √𝑥ଶ − 3;  Encuentre:  

𝑎) 𝑓(𝑥 + ℎ) b) 
௙(௫ା௛)ି௙(௫)

௛
 

7) 𝑓(𝑥) =
ଵ

௫ାଵ
;   Encuentre:  

௙(௫ା௕)ି௙(௫)

௕
 

8) 𝑓(𝑥) = √1 − 𝑥;  Encuentre: 
௙(௫ା௛)ି௙(௫)

௛
 

9) 𝑓(𝑥) =
|௫ିହ|

௫ାଶ
   Encuentre:  

𝑎) 𝑓(1) b) 𝑓(0) c) 𝑓(𝑥 + 5) 

10) 𝑓(𝑥) = −3𝑥ଶ +
ଶ

𝑥2
−

ଷ

௫
; Encuentre:  

𝑎) 𝑓(−1) b) 𝑓 ቀ
ଵ

௫
ቁ 
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SOLUCIONES:  
I PARTE. Evalúa las siguientes funciones:  

1) 𝑓(𝑥) = 2𝑥ଶ − 3;  Encuentre:  

𝑎) 𝑓 ቀ−
ଵ

ଶ
ቁ = −

ହ

ଶ
  b) 𝑓(3) = 15 c) 𝑓(0) = −3 

2) 𝑓(𝑥) = 𝑥ଶ − 5𝑥 + 6; Encuentre:  

𝑎) 𝑓(𝑎) = 𝑎ଶ − 5𝑎 + 6 b) 𝑓(𝑎 + 𝑏) = 𝑎ଶ + 2𝑎𝑏 + 𝑏ଶ − 5𝑎 − 5𝑏 + 6  

c)  

3) 𝑓(𝑥) = 3𝑥ଶ + 4𝑥 − 2; Encuentre:  

𝑎)𝑓(𝑥 + ℎ) = 3𝑥ଶ + 6ℎ𝑥 + 3ℎଶ + 4𝑥 + 4ℎ − 2 b) 
௙(௫ା௛)ି௙(௫)

௛
= 6𝑥 + 3ℎ + 4 

4) 𝑓(𝑥) =
ଶ௫ିଵ

ଶ௫ାଵ
;  Encuentre:  

𝑎) 𝑓 ቀ
ଵ

ଷ
ቁ = −

ଵ

ହ
 b) 𝑓 ቀ−

ଵ

ଶ
ቁ = 𝑛𝑜 𝑒𝑥𝑖𝑠𝑡𝑒 c) 𝑓(𝑥 + ℎ) − 𝑓(𝑥) =

ସ௛

(ଶ௫ାଶ௛ା )(ଶ௫ାଵ)
 

5) 𝑓(𝑥) = √𝑥ଶ − 16;  Encuentre:  

𝑎) 𝑓(5) = 3 b) 𝑓(4) = 0 c) 𝑓(6) = 2√5  d) 𝑓(3) = 𝑁𝑜 𝑒𝑠𝑡á 𝑑𝑒𝑓𝑖𝑛𝑖𝑑𝑎 

6) 𝑓(𝑥) = √𝑥ଶ − 3;  Encuentre:  

𝑎) 𝑓(𝑥 + ℎ) = √𝑥ଶ + 2𝑥ℎ + ℎଶ − 3 b) 
௙(௫ା௛)ି௙(௫)

௛
=

ଶ௫ା௛

ඥ(௫ା௛)మିଷା√௫మିଷ
 

7) 𝑓(𝑥) =
ଵ

௫ାଵ
;  Encuentre:  

௙(௫ା௕)ି௙(௫)

௕
= −

ଵ

(௫ା௕ାଵ)(௫ାଵ)
 

8) 𝑓(𝑥) = √1 − 𝑥;  Encuentre: 
௙(௫ା௛)ି௙(௫)

௛
= −

ଵ

ඥଵି(௫ା௛)ା√ଵି௫
 

9) 𝑓(𝑥) =
|௫ିହ|

௫ାଶ
  Encuentre:  

𝑎) 𝑓(1) =
ସ

ଷ
 b) 𝑓(0) =

ହ

ଶ
 c) 𝑓(𝑥 + 5) =

|௫|

௫ା଻
 

10) 𝑓(𝑥) = −3𝑥ଶ +
ଶ

௫మ
−

ଷ

௫
; Encuentre:  

𝑎) 𝑓(−1) = 2 b) 𝑓 ቀ
ଵ

௫
ቁ = −

ଷ

௫మ
+ 2𝑥ଶ − 3𝑥 

 


